ТЕСТ

Вариант I.

Часть 1.

А1. Упростите выражение

8 cos α · sin α
sin2α – cos2α
1) – 4 tg2α                   2) 8 ctg 2α                       3) 4 tg 2α   

А2. Упростите выражение:

cos α – sin α  .    cos α +sin α    

2 sin α         cos α

1) cos 2α                 2) 0,5 ctg 2α                         3) tg 2α

Часть 2.

В1. Найти значение выражения:

а) 26 sin 2x,   если   
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б) (cos 80º + sin 80º) (sin 10º – cos 10º)
                         cos 20º

Тест

Вариант 2.

Часть 1.

А1. Упростите выражение

6 sin α · cos α 

2 cos2α – 1

1) 3 ctg 2α                   2) 3 tg 2α                       3) 2 cos 2α   

А2. Упростите выражение:

cos α + sin α    . cos α – sin α   

cos α               4 sin α
1) 2 tg α                 2) cos 2α                         3) 
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Часть 2.

В1. Найти значение выражения:

а) 17 sin 2x,   если   
[image: image3.wmf]2

3

2

,

17

1

sin

п

x

п

x

<

<

-

=


б) cos 36º + sin 218º
           cos2 18º
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